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1. Define [Y] parameter and draw the equivalent circuit of it. [5+5] | CO4 |L1L3
Calculate the [Z] parameter of the circuit shown in figl.
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2. |Define [T] parameter. [4+6] | CO4 L1,L3
Calculate the [Y] parameter of the circuit shown in fig2. Then use the
parameter relationship to find ABCD parameter.
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3. Prove that for series resonant circuit, the resonant frequency is the geometric [5+5] | CO4iL1L3

mean of two half power frequencies.
Determine the value of R, for which the circuit of the fig3. resonates.
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6a.

6b.

Derive expression for resonant frequency in series RLC circuit.
A series RLC circuit has R=4Q, L=ImH and C=10uF. Calculate Q factor,
bandwidth, resonant frequency and half power frequencies.

Find the equation of current if the switch is closed at t=0. Find also the voltage across
L and R, the current at t=0.1 sec shown in fig5.
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t=0+ and t=co.

Show the behaviour of R, L, C elements at the time of switching at t=0 both at

Draw the dual network for the given network shown in fig6b.
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